(ZZEN) 2R KARR R VHEHM

TR EZ # Al HE h "EH [ & £
HoKit 15,700.0 m 1 i |memiTokem| iR KS
it =B E oK it 600.0 m 1 b " L= 1 Bkt
" 8,0000 m 1 R " FIRELK it
" 556.0 m 1 it " L= B
" 13,360.0 m 1 R " HATILBRERE K
" 12,000.0 m 1 i " BBFEKISILAPC (BRE)
" 8,500.0 m 1 i " FAFNRKISEAPC (FEiRE)
" 163.8 m 1 it " FHHESE 3K
RSB TEIK | 1,800.0 m 1 it " =X AEE K
" 1,800.0 m 1 R " B XELKith
" 6,280.0 m 1 R " X oK it
" 467.0 m 1 it " EERK
" 840 m 1 i " FIHEELKth
" 9.0 m 1 it " ENFE 1 EKi
" 100.0 m 1 it " L EREE 2 BoKith
" 1,030.0 m 1 R " &R 3 EEsKith
JEHE AT KA 100.0 m 1 " S62E (BN 24 (BBE M)
" 50.0 m [ " H 1B (EH/NMER)
" 60.0 m [ " H 3 &RiE (RPERK)
" 70.0 m [ " H 4 BRiE (LU ER)
" 450 m 1 # " H 4 %E& (IBEL)I/NER)
" 55.0 m [ " H 5 &RE (KE/NER)
" 75.0 m [ " H 7 5% E (F8/NER)
" 60.0 m 1T E B |H8RE B/MER)
n” 50.0 m 1 H " H 8 38 (/2 (BFE/N))
" 75.0 m [ " H 9 8% & (HHE/NER)
B " 80.0 m 1 = " H 9 B E (BB/NER)
" 450 m [ " H105% & (IBHEE/NER)
" 65.0 m [ " HI10ERE (B)I/NERD)
" 50.0 m [ " HTERE GrH/NER)
" 60.0 m [ " H11ERE (KE/NE)
" 400 m [ " H125%E (IBRE1/MV24%)
" 75.0 m [ " H12E%E (A H/NER)
" 60.0 m [ " H138% & Gth /N ER)
" 60.0 m 1T E BEH |HIRE FHBEHER)
" 60.0 m [ B |HI4%RE (B B/MER)
" 40.0 m [ " H15E%E (FRIE/NER)
" 60.0 m [ " H165%E (it B/ 2H%)
" 60.0 m 1T E BEm [HIGRE @ESR/NER)
" 60.0 m 1 = BRFm  (HITRE FEINER)
" 60.0 m 1T " HIBERE (FR/NFER)
" 60.0 m 1T E g |HI18RE (EFm/ )
" 60.0 m 1T E B |HI9ERE (ALF/NER)
" 40.0 m 1 H " H20ERE (FPER/NER)
" 100.0 m 1 # BEFNET H20E% & (AT R A E)
" 40.0 m - BRFM  (HARE (AR
" 60.0 m 1T E " H22ERE (RAPZERR)
" 60.0 m 1T " H23EZE (FIRIFER)
" 60.0 m 1 #H AR FOET H23E%E (K /NER)
" 400 m 1T E BpFm |H245%E (B RFi&AT)
" 60.0 m 1T X RAFNET  |H258&E (FESR/INEFER)
#RKE 20 m 1 & |"FHLTiER|HIIERE Bm——#
" 3.0 m 1 =1 " H248%& n—!)—%&




(ZZEN) 2R KARR R VHEHM

TR EZ i il HE h "EH [ & £
WKEVOE 1.5 m 2 & |®EmmiTkER|EHE
ke vy 1.5 m 5 X "
Jt=5-1 -l 0.5 m 19 {& "
BpFm EE AR KR 50 W 1,000 # "
" 6.0 6,380 X "
aVikR347 1,000.0 % 10 # " WY - -AXE2HEKER
RERaKEE 12 % " aviRS4 7, HERA
BRREN AT R Kt 500.0 m 1 B |[mEmkEEnm S aER Kt
7 1,000.0 m 1 X " Z Bkt
" 2000 m 1T E " WEE B/MNERED K it
7 2000 m 1 X " = BEKith
" 2000 m [ " FrEEK
7 1,500.0 m 1 X " KIRERK
" 1,880.0 m 1T E " Fr#EED Kt
" 215.0 m [ " EEERK
YIS ] 2.0 m/h 1T & " EBMAE
SE HwKkavYy 1.0 m 4 & " Ry T=H
/Y 2.0 m/n 1T & " EBMAE
PE ek Rt 2 10.0 & 82 & " "
" 6.0 374 651 = " "
A K 3R M AT KAE 60.0 m 17 E HEfm |[EE6, MEI
" 60.0 m 2 " H 1SS B et HIGHUBR /S
oK A )| 8 & " HERRIEERER (RS THA)
" 1.8 m/h 1 & " BLEEAE
ke 500.0 ¥ 4 & " HEREE2, SLEELE?
HEKARY B 10.0 ¥ 8,900 A " FETE BT ith
Bakith 1,300.0 m 1 M | hRmbEkE (BRENFA
" 2,650.0 m 1 ik " "
" 60.0 m 1T E " RF K 3R AT KE
BHIRKE VY 1.0 m 2 "
ke vy 20 m 1T "
#RKE 2.0 m 1 & "
R fhkee 6.0 L 20,000 % "
REE#aKE 4.0 0 2 E "
GET:Y S 1.0 m 2 @ |hemmEZkE
Bakith 100.0 m 1T & " BB KR FRET KA
" 1,500.0 m 1 ik " RAEW
REEHaKE 4.0 0 1T X "
#HKk% 6.0 L 900 =) n
KA 2,500.0 I/hr 5 & |wuereBEsER
ke VY 1,000.0 %% 2 "
R 4.0 W 4,000 #& "
Gzl (KRBT B 100.0 i - G s v
" 60.0 m 1 = " "
" 60.0 m 1 H " 7
ke 500.0 ¥t 21 H " ZKEEIRKE VU ICHE
2K 1 1.0 m/h 8 B |EBTHHRIFE|HS, 9, 10, 18EA
Wwkary 1.0 m 2 E |zsmrTER| S48, 6 1HBA
EET " 20 m 1T " S6 1A
" 300.0 W 10 & " H248A
Rysvy 20.0 {2 2 & " S5 78A




(ZZEN) 2R KARR R VHEHM

TR EZ i Al HE h "EH [ & £
Bk ith 2,500.0 m 1 & |mrarzmess|EiSskis
" 900.0 m 1T X " EES&KE
" 2,500.0 m 1T E " REF £ FEIKIG
" 1,400.0 m 1T E " P EEC K5
" 1,800.0 m 1T X " =EMFKE
" 1100 m [ " iR K
" 500 m 1T E " AL B KIS
" 54000 m 1 = " LIREE KIS
" 3,000.0 m 1T E " EREZEEKS
" 1,500.0 m [ " FEHEKE
" 1,400.0 m [ " J\H#KiEH
" 1,200.0 m [ " +BHiE$KiE
" 1,000.0 m 1 # " B FKE
" 410.0 m [ " ThZHEIEKE
" 1100 m 1T E " L EHEIRK
=7 L TR JEE RETKith 100.0 ng 2 H |mravasesszz| (IHAR) EEGIL, BG
2 7k 1.0 m/h 9 & |erauamewe=z| (IHEMR)
" 1.3 m/h 1 = "
" 1.8 m/h 1 = "
" 2.0 ni/h 2 & " S55~S58HA
$hkE 40 m 1 & |m7aizsexs|H7BA (IBER)
" 20 m 1T & " H8 A (IHFHE)
HwkKkEVY 20 m 2 EH |mragzmezs
" 20 m 4 X " H25
" 1.0 m 2 = n"
Ryavy 500.0 ¥ 6 @ |m7avzeene=z| (IHER)
" 20.0 44 100 {& " "
" 10.0 ¥ 200 f& " H10BEA (IB#E#2)
" 500.0 ¥ 4 & " A (IHERTE)
BrAKD S 0.5 m 2 H |mravzeewwsz|S 5 5HEA (IBHIR)
JEERKSE 6.0 2 5000 f@ |m7aTdzmexs
" 6.0 Q 3,700 & |s7rizemsess
it P BT K A 1000 m 1 B |dtahtnsER | SReCEE  ERERE
" 480 m 1T E RINT 1 AINRIRA
Ak 1.0 m/h 2 & "
" 1.3 m/h 5 & " S5 7EA
HoKHE 1.0 m/h 1T & " S5 6/A
BB AR KM 830.0 m 1T |wweeosess B 1 2K
" 1,000.0 m [ " BHEFEE 2 S2oKith
" 1440 m 1T E " BAEFE 12Kt
" 1020 m 1T E " BAEFE 232Kt
" 399.0 m 1T E " AEFE 32K
bt " 3020 m [ " BEF 432K
" 713.0 m 1T E " FOEER Kt
" 300.0 m [ " FR/NBHKIGFRERK
" 1,020.0 m 1T E " BIRE 2 BKMIRE 1 BIK
" 11,1240 m 1 # " =R EE 1 ok ZREIKth
" 1,0140 m [ " FIRZEE 1 Kt
" 1,000.0 m [ " RIRZEE 2 BLKith
" 1,0000 m [ " RIRAFE 3 ZoKith
" 1,160.0 m 1T E " FIRAL R X ECK it
" 150.0 m 1T E " RIREBEK
" 500.0 m 1 X " RIRECKith




(ZZEN) 2R KARR R VHEHM

TR EZ i Al HE h "EH [ & £
R A TR K it 616.0 m 1 H |[eamrFcmmsm BHEEKSL (H17SUS)
" 1,0000 m 1T X " INRIR KR EE 3 BLKith
7 360.0 m 1T & " B3 M Bt ER Kt (H19SUS)
Bk 2.0 ni/h 1 B (s (R
" 1.0 m/h 1 = " "
WKkavY 1.5 m 2 & |wmerrkemss
" 1.0 m 1 & "
" 0.5 m 6 & 7
Ve 500.0 % 6 & "
" 200 (i 28 & "
" 10.0 ¥ 10 # "
H KA 2.0 m/h 1 & |dtithshiisR CEBAE &
" 1.0 m/h 4 = " "
Ryavy 300.0 ¥t 2 E " "
" 1.0 m 2 = " "
ettt . - "
Bk SR A R AT KIE 60.0 m 1T & " H78&E (BMAFER)
" 60.0 m 1T & " H15%E (AMETRR)
" 60.0 m 1T & " HOBRE (BIINER)
Y 1.0 m/h 14 & " SHIA TR &
HKE 20 m 1 & " INBLR Y TREEL
BrKD S 50 m 1T & " SHEA TR &
2 7K 4% 8.4 m/h 1T & "
WKk Y 0.5 m 4 & "
" 0.7 m 1 & n"
" 1.5 m 1 & n"
" 2.0 m 1 1A "
BB 1.0 m/h 4 & " S5 4fA
" 20 m/h 1 = " "
#BKE 20 m 2 & |wmerrkemss
fakeE 6.0 ¥ 1,316 = "
Ryavy 20,0 ¢ 5 @ | £%KiE |#KtoamkEE, 600
ek E S 2 Eé%iﬁl‘%ﬁ#ﬁ;‘%mim 2,760.0 m 1 ,1*_1 iﬁJII;:%mi% E’E’K{F.%‘ KIS
oKt 18400 m 1 | XPIgkeg |REERY
KEREKE 6.0 2 1,000 BHER
REERRIK 20 2 575 K #75ER  |H2BEEA
" 0.5 2 1,992 K " H26ZF 1
Ak 1.0 m/h 20 & Vi
HKE 1.0 m 1 & KER
taka vy 1.0 m K " H30EE A
N n 0.5 m 2 H "
BrKD S 0.2 m 2 E BHER
" 1.5 m 1 = n"
Ryavy 20,0 ¢ 10 & KER
" 18.0 ¢ 10 & "
" 18.0 Q 5 & ==X
EEARY S 10.0 ¢ 100 #& JKIEE
Bakith 2,000.0 m 4 E |HEwKER
" 1,330.0 m 1 X "
—— " 1,000.0 m: 2 X "
" 2,900.0 m 1T E " AFNETIAA
" 1,900.0 m 2 " —BR-mZE
" 2,400.0 m 3 = " EBETET




(ZZEN) 2R KARR R VHEHM

METM &R i Al HE h "EH g & £
JEEETE M 60.0 m 3 E |HmTWREE
" 100.0 m 1 H | HwmKER
A Kk 120.0 /% 4 B |ERHRER
ke vy 1.0 m 3 & |EWmKER
" 0.3 m 26 B "
#HKE 25 m 1 & |&ERHRER
" 2.0 m 4 & "
" 1.5 m 1 & 7
Bakith 1,590.0 m 1T E | sEwRmKES
" 250.0 m 1 = "
Y 1.5 m/h 1 B |HERHRER | HEES
#RKE 20 m 2 & " "
WwKERRZ VY 20 m 1 & |#ERhHKER
" 25 m 1 & "
i = T R K A 40.0 m 1 E |mwieiE|se4~HANDE
" 60.0 m 10 = " "
" 60.0 m 10 # " H5~HO9K%E
" 60.0 m 2 X " H10%E
n 100.0 m 1 = " "
W " 60.0 m 2 E " HI1ERE
" 60.0 m 2 X " H12:5E
" 100.0 m 1 # " HI6EXE (ERSEMF)
2 7k 4% 1.5 m/h 6 & " S58HA
#kE 20 m = " EBARER. S5 4BA
ke oy 0.5 m 4 B |HEWRHKEEH4EBA
it Bk ith 100.0 m 2 EH Vi
Y 1.0 m/h 8 & |HEWmHRER
HKE 20 m 1T & " SHIA TR &
" 25 m 1 & " H118EA
A Kk 1.3 m/h 1 = "
#RKE 2.0 m 2 & n
Ak 200 m/h 6 & |EABEREE
ke vy 1.0 m 1 E | #EwRmKES
#HKE 1.0 m 1 & n
Rusa>y 10.0 ¥ 2,000 T "
ki 0.1 m % 2 & | BlXm |#EBhiE&
#RKE 20 m 1 & " "
Ryavy 200 ¢t 15 {& " "
" 10.0 % 5 @ " Vi
Bakith 3,500.0 m 1T & |RMHKERSHIRE
" 1,000.0 m 1 = " S60ER &
" 2,000.0 m 1T E " H15¢ FA B ga
JEEETE M 60.0 m 1 B |RMHHRERH4EE
" 1000 m 1T E " HTERE
" 100.0 m 1 X " HBER B
BT ke vy 0.5 m 2 E " H16EEA
" 1.0 m 4 H "

Bh Nk i 1000 m 4 B |ewmmzeeseas|SEH R
BIKHE 2.0 ni/h 1 & " HOEE A
#HKE 20 m 1 & |PMHRERERER

Rysvy 500.0 %% 5 B |esewzmmess|HOEEA
ki 2.0 mh 1 A |ewwcowsess| RS




(ZZEN) 2R KARR R VHEHM

TR EZ i Al HE h "EH [ & £
HBka oy 200.0 i 1 @ |smmxieEesm
BT " 500.0 ¥t 1 & "
Ryavy 20.0 i 20 {@ " SHEA TR &
e Bt 1 It K B R kit 2,480.0 m3 2 M |smemmsisexs MO%KE bl y1, 240m3
BrKA > kB KM 100.0 m 1 B |wnzenszsse| KIZE X
" 100.0 m 1 #H " K LFRE
" 1.0 m 1T & " H105% &
tekary (BERE) 1.0 m 1T & " H28EA
BRRGEMAMTEREAKL| 27000 m 1 = " H158%E&E
2 K4 1.0 m/h 1T & " S5 3HEA
" 1.0 m/h 2 A " H78EA
1 = fE ke oy 1.0 3m° 1T & " S51HEA
oYL 2.0 m/h 5 = " S55, 56, 578#A
ke oy 1,500.0 %% - " H78BA
" 0.5 m 3 # " S55, 56, 578EA
Ryavy 150.0 ¢ 1T & " "
" 100.0 ¥t 2 " Vi
k<R 450.0 1% 3 & " H5BEA
" 2.0 m 1 H " "
tekary (BERE) 2,000.0 % 1T " H15EE A
ke vy 1,200.0 ¢ 1T BB  |ER22EEEA
RIALY 0.0 ¢ 150 f& " T2 5FERA
B JIET " 20.0 Q 50 @& " "
Ak 300.0 Q 1 = " BEAX1BHRY
Kk vy 250.0 ¢ 3 X " H2 78EA
A K 1~2.5mM/h 15 & |BEETHRIEER K IER
A K 1~2.5m h 0 L |sEEEmETAHR
S IERT %ﬁjk@‘/? 1.5 m: 2 = " S59, H6EEA
Rusa>y 0.3 m 17 & " H6. H2 48A
Rusa>y 0.5 m 12 & " H6. H8, H248A
WEREHEKEKE VD 1.0 m 0 = "
R EOERTF T ERK T 400.0 m 1 B |mserkamess | BN ET K AR AT K it
" 630.0 m 1T & " FEER A KR BRAC K it
" 180.0 m - " TR KE
" 630.0 m [ " hREKEE 6
" 1841 m [ " R EKEE 1
" 236.0 m [ " R EKEE 2
" 93.7 m [ " R EKE 3
" 216.0 m [ " hREKEE S
" 97.0 m [ " TERIRIKEE 2 BRoKith
FAERET . : -
" 100.0 m - " FiREEKE 2
" 70.0 m [ " BRER S K B B Rk it
" 300.0 m 1T & " TEERE K & 2 FE 55 2ER Kt
" 450.0 m 1T & " TR KE 1B KM
" 2100 m 1T & " FEER A KIRIREC K it
Ak 2.0 m/h 1 & |EHEREE|S5 7THA
ke 1.5 m 1 & |@sEskEEsEg|S 6 0FA
7 1.0 m 1 & " H6#EA
" 0.4 m 1 & " H168EA




(ZZEN) 2R KARR R VHEHM

TR EZ i Al HE h "EH [ & £
Eakith 2,000.0 m 1 B |mtnerreR[ERE 1 EKH
" 2,0000 m 1 = " EX S 2 Bkt (H14ERE)
" 1,500.0 m 1T E " AL EBER K ith
=4I| BT " 11,0000 m 1 = " S XEKth
(IBBFEET) " 300.0 m 1T " R IREE Kt
it = R R BT KA 60.0 m 1T X " HORE
ke oy 1.0 m 1T & "
n 0.5 m 3 & "
Bakith 100.0 m 1T X " S5 7%E
BIKHE 1.0 m/h 2 & " S54~S59HA
" 2.0 m/h 16 & " "
" 1.0 m/h 1 & " H28EA
=)IIET WEPY 20.0 ¥ 20 & " S57~S59HA
(IBSHRET) N D) 300.0 ¢ 3 @ " "
" 500.0 44 8 {& " "
" 1.2 m 1 1A " "
" 2.0 m 1 1A " i
ke oy .5 m 1T & " H 8 A
Bakith 6,3562.0 m 10 FH |=seeewercessn|H2988 |1 55262 /KI53800
— HwKkavYy 1.0 m 4 & " S57, 59, H8EEA
" 1.5 m 2 & " S59KA
KERBKE 6.0 W 400 & "
KREMNF 4,570.0 m 3 HEFT [sewLTAER H2, H15, H28%E
BIKHE 2,000.0 %% h 17 & |#BHHRBESS55~HTEA
" 1,000.0 % h 20 & " H9, 10, 24, 258A
5 ke vy 1.0 m 3 B |#8HLkEERs54, 56, H2 4BA
i K% 1.0 m 1T % " S58HA
" 500.0 %2 2 % " S58, 598A
" 250.0 Wt 2 &% " "
#BKFAtEn 40 0O 2 H " H2 4BEA
BREIK IS SRR U B RN 5 60.0 m 1 H |xATrBEER
it E R ALK ith 100.0 m 1 B |xAmwEmzaRHITEESE
Ak 7.5 m/h 1 = "
KA " 7.5 m/h 16 B |KATuBEER
¥wKED 20 m 1 & |xAmmEzEs
n 0.5 m 2 & "
RIALY 18.0 ¥ 50 & "
R 2ERT TR K 3,500.0 m 1 H |=swunskuezm
" 4,000.0 m 1 X "
" 1,500.0 m 1T "
" 680.0 m 1 X "
" 570.0 m 1 = "
" 400.0 m 1 = "
. " 400.0 m 1T "
LHRT p 190.0 e "
HwKkEUY 1.0 m 3 h-d n
7 1.0 m 7 H | rtuEessmss
Ak 19 & |LBEHREE
RIALY 500.0 % 2 & "
BRI RRRTKE 100.0 m 1T E "
" 1000 m 1 E | rBEdEits-




(ZZEN) 2R KARR R VHEHM

TR EZ i il HE h "EH [ & £
BrAKD S 500.0 ¥ 9 E |EFEFREER
taka vy 300.0 ¥ 1 & |ESHERRRSR
i " 200.0 ¥ 1 & "
A " 100.0 ¢ 1T & "
" 20.0 ¥ 0 A "
" 10.0 (3 10 =1 "
ke oy 1.0 m 1 A |BEHEERHER|S558A
FEAEHT Ry FAR ML 0.5 % 720 K " BEERH
" 1.5 i 120 K " "
it R R B K ith 2,490.0 m 3 B |ruAmskER
BEH #AKE 20 m 1T & "
FEEARYE 6.0 % 1,000 & I FERTERE
X SIEET B K 11,1740 m 2 B |WdiwkEsg
" 1,190.0 m 1 X "
Ly ‘H 2,700.0 m 2 X " i
B ia 8 B |LhWAeBRPKER
Wwkary 3,000.0 L 3 X " 5 1 &
#AkE 20 m 1T & " Pl . H28EEA
Bakith 300.0 m 1t |IRRAIREE
SR BRSBTS FEIK | 1,000.0 m K " H6. 8. 13®%E&
#RKE 20 m 1 & |RBRFAKRKEIHI128BA. HEEER
Bk 18 100.0 m 3 H |stAnmerens
Ak 1.3 m/h 1 & |staocwmsswmss
" 2.0 m/h 2 = "
= A O ET " 2.5 m/h 14 & "
#RKE 3.7 m 2 & |stAnmeks
" 3.4 m 1 & "
" 20 m 1T & " H31.38 ZFh
INE A R RIER AT E K 100.0 m 1 H | MERRRRRS
Ry kR kL 2.0 W 1,350 K [/IMEHBER
FHELA REBRRSKE 1.0 ni/h 2 & |sruneness
REGEMT SRk | 6,000.0  m 1 E |mmeanwiiexm
" 4,000.0 m 1 X "
" 3,500.0 m 1T "
" 1,500.0 m 1 X "
" 960.0 m 1 = "
" 910.0 m 1 = "
" 680.0 m 1 X "
" 650.0 m 1 = "
7 3
%Eirg@f%miaﬁ " 570.0 m - "
" 400.0 i = "
" 400.0 m 1 = "
" 190.0 m 1 = "
RN TR IRTKE 100.0 m 1 = "
BRI SO IR U R 5 60.0 m 1 & "
ke oy .5 m 2 A "
" 1.0 m 4 & "
U2 18.0 L 200 f@ n




